Ex cable glands
HSK-K-Ex-Active (metric/Hong)

Material Polyamide. fiber reinforced m

SW1 Sedl NBR

Material o-ring NBR

a2 Protection class P 68— 10 bar

126 Ex eb [ICGb /11 1D Ex ta IIIC Da /

‘ Ex-protection level Class I Div 2 Groups A,B,C,D / Class |l

Div 1 Groups E,FG

- Temperature range -20°Cto +85°C

Colour black / blue-black

RAL 9005 /5012

ltem-No ltem-No [tem-No [tem-No
1ok Ho swi/sw2 @ 6L black blue-black 6L black blue-black
AG mm mm mm Nm mm short short mm long long
M12x 1.5 2-5 21 15115 2 8 1.292.1201.51 1.292.1202.51 15 1.292.1201.31 1.292.1202.31
M12x1.5 3=65 2 15/15 1.5 8 1.292.1201.50  1.292.1202.50 15 1.292.1201.30  1.292.1202.30
M16x1.5 3-6 22 19/19 2 8 1.292.1601.51 1.292.1602.51 15 1.292.1601.31 1.292.1602.31
M16x 1.5 3-7 25 22/72 3 8 1.292.1611.51  1.292.1612.51 15 1.292.1611.31 1.292.1612.31
M16x1.5 4-8 22 19/19 2 8 1.292.1601.50 1.292.1602.50 15 1.292.1601.30 1.292.1602.30
M16x1.5 5-10 25 /72 3 8 1.292.1611.50  1.292.1612.50 15 1.292.1611.30  1.292.1612.30
M20x 1.5 5-9 27 /24 45 9 1.292.2001.51 1.292.2002.51 15 1.292.2001.31 1.292.2002.31
M20x 1.5 6=12 27 24/24 45 9 1.292.2001.50 1.292.2002.50 15 1.292.2001.30 1.292.2002.30
M20x 1.5 7-12 28  27/21 45 9 1.292.2016.51 1.292.2017.51 15 1.292.2016.31 1.292.2017.31
M20x 1.5 10-14 28  27/21 45 9 1.292.2016.50 1.292.2017.50 15 1.292.2016.30 1.292.2017.30
M25x 1.5 9-16 31 33/33 5 11 1.292.2501.51 1.292.2502.51 15 1.292.2501.31 1.292.2502.31
M25x 1.5 13-18 31  33/33 5 1 1.292.2501.50 1.292.2502.50 15 1.292.2501.30 1.292.2502.30
M32x1.5 13-20 39  42/42 65 11 1.292.3201.51 1.292.3202.51 15 1.292.3201.31 1.292.3202.31
M32x1.5 18-25 39  42/42 65 11 1.292.3201.50 1.292.3202.50 15 1.292.3201.30 1.292.3202.30
M40 x 1.5 20-26 48 53/53 10 13 1.292.4001.51 1.292.4002.51 18 1.292.4001.31 1.292.4002.31
M40 x 1.5 22-32 48  53/53 10 13 1.292.4001.50  1.292.4002.50 18 1.292.4001.30 1.292.4002.30
M50 x 1.5 25-31 49 60/60 15 13 1.292.5001.51 1.292.5002.51 18 1.292.5001.31 1.292.5002.31
M50 x 1.5 32-38 49 60/60 15 13 1.2925001.50 1.292.5002.50 18 1.292.5001.30 1.292.5002.30
M63 x 1.5 29-35 49 65/68 22 14 1.292.6301.51 1.292.6302.51 18 1.292.6301.31 1.292.6302.31
M63x 1.5 37-44 49 65/68 22 14 1.292.6301.50 1.292.6302.50 18 1.292.6301.30 1.292.6302.30
fo the assembly ~ 2 B
instruction c € EH[ S !i c@us ATEX@

m Dimensions and specifications may be changed without prior notice



